Minitab Project Report

This first test asks whether or not they use one call more or less than S1 (999) as background noise increases.

Nominal Logistic Regression: Call mod 2 versus background noise

Response Information

Variable  Value       Count

Call mod  999           391  (Reference Event)

          7              37

          6              37

          4              93

          37             34

          3              23

          2h             25

          19             62

          18             52

          17            146

          16            162

          10             22

          ?              26

          Total        1110

Logistic Regression Table

                                                  Odds         95% CI

Predictor       Coef    SE Coef        Z     P    Ratio    Lower    Upper

Logit  1: (7/999)

Constant      30.339      7.067     4.29 0.000

backgrou    -0.27753    0.06045    -4.59 0.000     0.76     0.67     0.85

Logit  2: (6/999)

Constant     -25.713      7.077    -3.63 0.000

backgrou     0.19486    0.05870     3.32 0.001     1.22     1.08     1.36

Logit  3: (4/999)

Constant      59.461      5.796    10.26 0.000

backgrou    -0.52140    0.05009   -10.41 0.000     0.59     0.54     0.65

Logit  4: (37/999)

Constant      -5.768      7.257    -0.79 0.427

backgrou     0.02792    0.06085     0.46 0.646     1.03     0.91     1.16

Logit  5: (3/999)

Constant     -12.624      8.739    -1.44 0.149

backgrou     0.08203    0.07300     1.12 0.261     1.09     0.94     1.25

Logit  6: (2h/999)

Constant      41.243      8.674     4.75 0.000

backgrou    -0.37473    0.07471    -5.02 0.000     0.69     0.59     0.80

Logit  7: (19/999)

Constant      -8.973      5.564    -1.61 0.107

backgrou     0.05980    0.04657     1.28 0.199     1.06     0.97     1.16

Logit  8: (18/999)

Constant       6.585      5.958     1.11 0.269

backgrou    -0.07247    0.05028    -1.44 0.149     0.93     0.84     1.03

Logit  9: (17/999)

Constant     -14.264      3.992    -3.57 0.000

backgrou     0.11113    0.03334     3.33 0.001     1.12     1.05     1.19

Logit 10: (16/999)

Constant      -5.826      3.799    -1.53 0.125

backgrou     0.04149    0.03184     1.30 0.193     1.04     0.98     1.11

Logit 11: (10/999)

Constant      -4.996      8.887    -0.56 0.574

backgrou     0.01779    0.07456     0.24 0.811     1.02     0.88     1.18

Logit 12: (?/999)

Constant      -3.806      8.209    -0.46 0.643

backgrou     0.00920    0.06891     0.13 0.894     1.01     0.88     1.16

Log-likelihood = -2196.307

Test that all slopes are zero: G = 252.589, DF = 12, P-Value = 0.000

Goodness-of-Fit Tests

Method      Chi-Square    DF      P

Pearson      11706.378  2052  0.000

Deviance      2505.026  2052  0.000

This test asks if they use different call types as boat count increases with S1 (999) as a reference.

Nominal Logistic Regression: Call mod 2 versus boat count

Response Information

Variable  Value       Count

Call mod  999           391  (Reference Event)

          7              37

          6              37

          4              93

          37             34

          3              23

          2h             25

          19             62

          18             52

          17            146

          16            162

          10             22

          ?              26

          Total        1110

Logistic Regression Table

                                                  Odds         95% CI

Predictor       Coef    SE Coef        Z     P    Ratio    Lower    Upper

Logit  1: (7/999)

Constant     -2.3616     0.2663    -8.87 0.000

boat cou     0.00099    0.05336     0.02 0.985     1.00     0.90     1.11

Logit  2: (6/999)

Constant     -3.3828     0.3241   -10.44 0.000

boat cou     0.20010    0.04323     4.63 0.000     1.22     1.12     1.33

Logit  3: (4/999)

Constant      0.5770     0.2751     2.10 0.036

boat cou     -0.9664     0.1546    -6.25 0.000     0.38     0.28     0.52

Logit  4: (37/999)

Constant     -2.2824     0.2747    -8.31 0.000

boat cou    -0.04461    0.06114    -0.73 0.466     0.96     0.85     1.08

Logit  5: (3/999)

Constant     -2.9974     0.3380    -8.87 0.000

boat cou     0.04081    0.06170     0.66 0.508     1.04     0.92     1.18

Logit  6: (2h/999)

Constant     -1.6683     0.3937    -4.24 0.000

boat cou     -0.4185     0.1683    -2.49 0.013     0.66     0.47     0.92

Logit  7: (19/999)

Constant     -2.3154     0.2259   -10.25 0.000

boat cou     0.10673    0.03645     2.93 0.003     1.11     1.04     1.20

Logit  8: (18/999)

Constant     -2.5484     0.2470   -10.32 0.000

boat cou     0.11764    0.03880     3.03 0.002     1.12     1.04     1.21

Logit  9: (17/999)

Constant     -2.2403     0.1879   -11.92 0.000

boat cou     0.23320    0.02622     8.89 0.000     1.26     1.20     1.33

Logit 10: (16/999)

Constant     -1.7484     0.1649   -10.60 0.000

boat cou     0.17572    0.02515     6.99 0.000     1.19     1.13     1.25

Logit 11: (10/999)

Constant     -3.2338     0.3558    -9.09 0.000

boat cou     0.08315    0.05899     1.41 0.159     1.09     0.97     1.22

Logit 12: (?/999)

Constant     -2.4885     0.3112    -8.00 0.000

boat cou    -0.06344    0.07250    -0.88 0.382     0.94     0.81     1.08

Log-likelihood = -2182.255

Test that all slopes are zero: G = 280.694, DF = 12, P-Value = 0.000

Goodness-of-Fit Tests

Method      Chi-Square    DF      P

Pearson       6231.823   144  0.000

Deviance       545.771   144  0.000

The test is a chi squared and asks if there is a significant difference in the usage of call types across behaviors.

Tabulated Statistics: behavior, Call mod 2

Tabulated Statistics: behavior, Call mod 2

 Rows: behavior     Columns: Call mod

                ?       10       16       17       18       19       2h        3

 foraging       1        0        4        2        2       14        0        4

             1.94     1.65    12.11    10.92     3.89     4.64     1.87     1.72

            -0.68    -1.28    -2.33    -2.70    -0.96     4.35    -1.37     1.74

 socializ       2       12       33       19       23        4        0        0

             4.73     4.00    29.48    26.57     9.46    11.28     4.55     4.19

            -1.26     4.00     0.65    -1.47     4.40    -2.17    -2.13    -2.05

 travelli      23       10      125      125       27       44       25       19

            19.32    16.35   120.41   108.51    38.65    46.08    18.58    17.09

             0.84    -1.57     0.42     1.58    -1.87    -0.31     1.49     0.46

 All           26       22      162      146       52       62       25       23

            26.00    22.00   162.00   146.00    52.00    62.00    25.00    23.00

              --       --       --       --       --       --       --       --

               37        4        6        7      999      All

 foraging      18        1        1        0       36       83

             2.54     6.95     2.77     2.77    29.24    83.00

             9.69    -2.26    -1.06    -1.66     1.25      --

 socializ       1        6        7        5       90      202

             6.19    16.92     6.73     6.73    71.15   202.00

            -2.09    -2.66     0.10    -0.67     2.23      --

 travelli      15       86       29       32      265      825

            25.27    69.12    27.50    27.50   290.61   825.00

            -2.04     2.03     0.29     0.86    -1.50      --

 All           34       93       37       37      391     1110

            34.00    93.00    37.00    37.00   391.00  1110.00

              --       --       --       --       --       --

Chi-Square = 237.110, DF = 24, P-Value = 0.000

13 cells with expected counts less than 5.0

  Cell Contents --

                  Count

                  Exp Freq

                  St Resid

